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we can now introduce the concept of
the special metric
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why do I need a shift vector

This is because n owed 52 are not

dual to each other
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So far we have not discussed at all

the Einstein equations All we discussed is

differential geometry in 3 1 split
However a lot of the groundwork has

already been done
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Ricci equations

After a bit more algebra where we

do the Soane decomposition tr on
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Still missing 4 egos but this is

fine because GR is a covariant theory
and the

missing equations are those

for the evolution of the 4 unspecified
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and so the solution my diverge
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